
 

 

Answer on Question #64505 – Math – Calculus 
 

Question 
 
When there is the equation 𝑊 =  200 ∙ sin(10𝜋𝑡) find out the work done take into 
consideration that compression takes place only in the first half cycle. t = 0 to t = 0.1 s. 
 

          Solution 

 

𝑊𝑑𝑜𝑛𝑒 = ∫ 200 ∙ sin(10𝜋𝑡) 𝑑𝑡

0.1

0

= ∫ 200 ∙
1

10𝜋

0.1

0

𝑠𝑖𝑛(10𝜋𝑡)𝑑(10𝜋𝑡) = 200 ∙
1

10𝜋
∙ (−cos(10𝜋𝑡)) |0

0.1

= −
200

10𝜋
(cos(10𝜋 ∙ 0.1) − cos(10𝜋 ∙ 0)) = −

20

𝜋
(cos(𝜋) − cos(0)) = −

20

𝜋
(−1 − 1)

=
40

𝜋
. 

Answer: 𝑊𝑑𝑜𝑛𝑒 =
40

𝜋
. 
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